. = I= /\
= i OB ¥ E & #F =X
(HAL . TH)
SERY 284F B SRR 2TAE i i %
= % 10424 0454 i &
TEKE(A) TEAH(B) (A)-(B)
(%) (%) (%)
— ke = b 42,360,000 | 43.5 40, 660, 000 | 43.4 1, 700, 000 4.9
B R BE R bR F ¥ 12,531,000 | 13.9 12,980,000 | 12.8 A449, 000 A3.5
o5 Kk E F OE 36, 200 0.0 40, 300 0.0 A4, 100 A10.2
K
B E K HE K FOE 702, 800 0.6 583, 400 0.7 119, 400 20.5
Al I I S R N 9,569,000 | 10.1 9, 493, 000 9.8 76, 000 0.8
PR I g i 8,753, 000 8.8 8, 216, 200 9.0 536, 800 6.5
ey
T 3 [ & s F ¥ 859, 000 0.1 112, 700 0.9 746, 300 662. 2
%W oE o E R 1,273, 000 1.3 1, 232, 600 1.3 40, 400 3.3
3 33,724,000 | 34.8 32,658,200 | 34.5 1, 065, 800 3.3
7K 1 x5 E'S 3,092, 600 3.3 3, 098, 200 3.2 A5, 600 AO. 2
1
- N T oK E FE OE 9,269, 400 8.8 8, 267, 200 9.5 1, 002, 200 12.1
AN
=¥ Bt *= ES 9,211,000 9.6 9, 006, 000 9.4 205, 000 2.3
&t
2 21,573,000 | 21.7 20,371,400 | 22.1 1, 201, 600 5.9
& 3 97,657,000 | 100.0 93, 689, 600 | 100. 0 3, 967, 400 4.2
[EHAaHITS]
— & = 3 1, 553, 600
= ¥ & it 1, 939, 000
AN =

3,492, 600




— k=5 i FE
m A (47 2 TF)
SRR 284F B PR 2TAR t. iy
% il HERK EE HERK L i =
THEAE(A) THA(B) (A)-(B)
(%) (%) (%)

1 Bi | 15,180,000 | 35.8 | 15,800,000 | 38.9 620, 000 A3.9
2 # 5 B 5 B 350, 000 0.8 339, 000 0.8 11, 000 3.2
3 M 7 E R & 27,000 | 0.1 35, 000 0.1 A8,000 | A22.9
4 K o4 B o M & 87, 000 0.2 45, 000 0.1 42, 000 93.3
5  BRAERRIE TR 22T 4 40,000 | 0.1 37,000 | 0.1 3,000 8.1
6 M7 iH O OBLAZ AT 4| 2,160,000 | 5.1 1,870,000 | 4.6 290, 000 15.5
7 LT GR B AT 4 62,000 | 0.2 63, 000 0.2 A1, 000 N1.6
8 B By AR AT & 60,000 | 0.1 60,000 | 0.2 0 0.0
9 ;f ”fmﬁjﬁkﬁm %jﬁ 275,000 | 0.6 275,000 | 0.7 0 0.0
10 #t 75 % B 2 & 60,000 | 0.1 60, 000 0.2 0 0.0
1 # 5% oz £ Bi| 6,020,000 | 14.2 | 5,870,000 | 14.4 150, 000 2.6
L @ A fF Bi| 5,350,000 | 12.6 | 5,200,000 | 12.8 150, 000 2.9
BBl & Bl 670,000 | 1.6 670,000 | 1.6 0 0.0

12 AZ@%E AR R I A2 A 4 14,000 | 0.0 15,000 | 0.0 A1, 000 N6, T
13 HEaekOC4adEs 241,768 0.6 379, 741 0.9 NA137,973 |  A36.3
14 fE A OB K O F BB 598, 462 1.4 580, 886 1.4 17,576 3.0
15 % M 4| 6,898,875 | 16.4 | 6,799,157 | 16.7 99, 718 1.5
16 IR X &8 4| 3,000,562 | 7.1 | 2,778,318 | 6.8 222, 244 8.0
17 JE I A 173,134 | 0.4 173, 960 0.4 826 N0. 5
18 % Bt 4 98, 601 0.2 14,298 | 0.0 84, 303 589. 6
19 # A 4 975, 211 2.3 715,706 | 1.8 259, 505 36. 3
20 B & 1 0.0 1 0.0 0 0.0
21 7 I A | 1,056,086 | 2.5 696,233 | 1.7 359, 853 51.7
22 i f£ | 4,982,300 | 11.8 | 4,052,700 | 10.0 929, 600 22.9
We M B Br & K fF | 1,600,000 | 3.8 | 2,120,000 | 5.2 A520,000 | A24.5
11 T S = 540, 000 1.3 200,000 | 0.5 340, 000 170.0

z o ft oo i fE| 2,842,300 | 6.7 1,732,700 | 4.3 1, 109, 600 64.0

& At 42,360,000 | 100.0 | 40,660,000 | 100.0 1, 700, 000 4.2




—_— n A = E3 = =
e £ &t ;R P E &
% (BAL : FH)
R 284F R 2T t 19
X Al AR AR i =
TEKE(A) TELH(B) (A)-(B)
(%) (%) (%)

1 £ # 352,703 0.8 398, 585 1.0 A45, 882 A1l 5
2 % # 3, 889, 500 9.2 3,703, 743 9.1 185, 757 5.0
3 B Vs # | 14,049,196 33.2 | 13,423,285 33. 1 625,911 4.7
4 f5 Vs 2 3,347, 637 7.9 2, 596, 166 6.4 751, 471 28.9
5 % i) # 13,284 0.0 9, 270 0.0 4,014 43. 3
6 B K oK E ¥ B 1,732,920 4.1 1,452, 406 3.6 280, 514 19.3
7 T # 1,111,728 2.6 749, 321 1.8 362, 407 48. 4
8 =+ A iy 5,547,022 13.1 5, 568, 970 13.7 A21, 948 AO. 4
9 4 193] iy 1,989, 950 4.7 2,048, 881 5.0 A58, 931 A2.9
10 # = # 3,760, 459 8.9 4,122, 835 10. 1 A362, 376 A8.8
1 % % # 1B % 1 0.0 1 0.0 0 0.0
12 N 1& i 6, 555, 600 15.5 6, 576, 537 16. 2 A20, 937 AO0. 3
13 ¥ i % 10, 000 0.0 10, 000 0.0 0 0.0

= g 42,360,000 | 100.0 40, 660, 000 | 100.0 1, 700, 000 4.2




B # ¥ FE %
(— #& = &) (HN7 : TFH)
R 284 FE SRR 2T E e L2
1A H HERR EE HERK L i =
THRA(A) THA(B) (A)-(B)
(%) (%) (%)
7% % £ 2 # | 21,243,034 | 50.2 | 20,299,114 | 50.0 943, 920 4.7
N {Gs # | 5,661,359 | 13.4 | 5,510,661 | 13.6 150, 698 2.7
2 b B F 4 584,000 | 1.4 361,000 | 0.9 223, 000 61.8
B B # | 9,026,075 | 21.3 | 8,211,953 | 20.2 814, 122 9.9
U8 & # | 6,555,600 | 15.5 | 6,576,500 | 16.2 20, 900 AO0.3
— % 17 B # | 8,336,386 | 19.7 | 8,311,015 | 20.4 25,371 0.3
v : # | 5,485,264 | 13.0 | 5,619,123 | 13.8 A133, 859 N2. 4
1 Bl # A1 1,854,899 | 4.4 | 2,292,393 | 5.6 A437,494 | A19.1
i VA & 314,462 | 0.7 171,838 | 0.4 142, 624 83.0
B E kL O HE & 0| 0.0 0] 0.0 0 0.0
= i & 681, 761 1.6 227,661 | 0.6 454, 100 199. 5
HE Ff i & # 185, 911 0.4 169,545 | 0.4 16, 366 9.7
i % £ % # | 5,042,262 | 14.0 | 5,393,791 | 13.3 548, 471 10. 2
o d % F ¥ % | 5,942,261 | 14.0 | 5,393,790 | 13.3 548, 471 10. 2
B | 3,043,392 | 9.3 | 3,276,242 | 8.1 667, 150 20. 4
Bl # | 1,998,869 | 4.7 | 2,117,548 | 5.2 A118, 679 N5.6
K FH #EH B FE ¥ B 1 0.0 1| 0.0 0 0.0
@ D fli | 6,652,407 | 15.7 | 6,486,535 | 15.9 165, 872 2.6
s H 4| 6,533,787 | 15.4 | 6,343,649 | 15.6 190, 138 3.0
= E M & A B & 108,620 | 0.3 132,886 | 0.3 N24,266 |  A18.3
i # 10,000 | 0.0 10,000 | 0.0 0 0.0
= G 42,360,000 |100.0 | 40,660,000 |100.0 1, 700, 000 4.2




m & O K

(BAZ 2 TM)
SRR 284 E SRR 2 TAR i %
B : FERRIT LT W
THEEE(A) THEE(B) (A)-(B)
(%) (%) (%)
I & 18 Bi | 14, 233,000 93.8 | 14, 864, 000 94. 1 A631, 000 A4, 2
1 B’ B | 6,650,000 43.8 7, 400, 000 46. 8 AT50,000 | A10.1
1 A | 5,480,000 36. 1 5, 500, 000 34, 8 A20, 000 AO. 4
ik A 1, 170, 000 7.7 1, 900, 000 12.0 AT730,000 | A38.4
2 E T E OB 6, 580, 000 43. 4 6, 500, 000 41.2 80, 000 1.2
E & FE BL| s, 561,000 43.3 6, 482, 000 11. 1 79, 000 1.2
A2 fF & 19, 000 0.1 18, 000 0.1 1, 000 5.6
3 % B @ #H B 263, 000 1.7 220, 000 1.4 43, 000 19.5
4 i = F Z B 740, 000 4.9 744, 000 4.7 A4, 000 AO0.5
o H Q] B 947, 000 6.2 936, 000 5.9 11, 000 1.2
1 A N i 50, 000 0.3 49, 000 0.3 1, 000 2.0
2 # W F oWt 897, 000 5.9 887, 000 5.6 10, 000 1.1
& B 15,180,000 | 100.0 | 15,800,000 | 100.0 A620, 000 A3.9




